Events / 100 GeV

Data / fit

Events / 100 GeV

Data / fit

Events / 100 GeV

Data / fit

Events / 100 GeV

Data / fit

138 fb™ (13 TeV)
‘[ Dal; ‘ -q)g bkg.‘

Z Fitunc. [JLost t/W bkg.
—1TeV ><spm_l-mW bkg.
—3Tev X, JEm, bkg.
OB(X - H .2 pb

CMSPreIlmlnary
oL P

1.5 ; _
1 =
05F
1000 1500 2000 2500 3000 3500 4000 4500 5000
m,,,, [Ge'
CMSPreIlmlnary 138 fb™ (13 TeV)
u bL, HP ‘[ Dat‘a ! -q)g bkg.‘ 3
Z Fitunc. [JLost t/W bk

—1TeV Xspm Jm,, bkg.

—3Te szpm-m bkg.
GB(X — HH)=

1000 1500 2000 2500 3000 3500 4000 4500 5000

m,,, [GeV]
CMSPreIlmlnary 138 fb (13 TeV)
u. bT, LP ‘[ Dat‘a -q/g bkg

Z Fitunc. [JLost t/W bkg.
—1TeV Xspm Jm,, bkg.

—3TeV Xspm _m bkg.
GB(X ~ HH)=0.2p

1000 1500 2000 2500 3000 3500 4000 4500 5000

my, [GeV]

" CMSPrellmlnary 138 fb (13 TeV)
10 u bT, HP ‘I Da(e‘\ -qlg bkg §
ZFitunc. [JLost t/W bkg. ]

—1TeV xsww- m,, bkg.

—3TeV Xsnmro- m, bkg.
GB(X — HH)=0.2pb

1000 1500 2000 2500 3000 3500 4000 4500 5000
m,,, [GeV]

138 fb™ (13 TeV)

CMS Prellmlnary
10

T T T T T
e bL, LP I Data [@alg bkg.

Z Fitunc. [JLost t/W bkg.

—1TeV ><spm_o-mw bkg.

—3Tev X, [m bkg.
GB(X - HH)=02pb

Events / 100 GeV

s

©

[a]
1000 1500 2000 2500 3000 3500 4000 4500 5000

i [GeV]

CMS Prellmlnary 138 fb™ (13 TeV)

% 10 e bL, HP ‘[ Da:‘a ‘ -q}g bkg.‘

g Z—Fitunc.  [JLost t\W bkg.

S ~—1TeVv ngmo-"‘w bkg.

-~ —3Te szpmo-m bkg.

§4] OB(X — HH)=

c

9]

>

w

Data / fit
-
o

=

1000 1500 2000 2500 3000 3500 4000 4500 5000
m,,, [GeV]
138 fb (13 TeV)
‘[ Dat‘a -q/g bkg
Z Fitunc. [JLost t/W bkg.
—1TevX,, [Em, bkg.

—3TeV X!pm l,-m bkg.
GB(X ~ HH)=0.2p

CMS Prellmlnaw

Events / 100 GeV

Data / fit

1000 1500 2000 2500 3000 5500 4000 4500 5000
m,,, [GeV]

CMS Prellmlnary 138 fb™ (13 TeV)

. g

ebT LP

10*

T
1 Data

ZFitunc.
—1TeV xspmru- m,, bkg.

—3TeV Xswm-m‘ bkg.
OB(X — HH)=0.2pb

Events / 100 GeV

Data / fit

1000 1500 2000 2500 3000 3500 4000 4500 5000
m,,, [GeV]

Events / 100 GeV

Data / fit

Events / 100 GeV

Data / fit

Events / 100 GeV

Data / fit

Events / 100 GeV

Data / fit

CMS Prehmlnary

138 fb™ (13 TeV)

T
SF bL

T T T T T
i Data [@alg bkg. E|
Z=Fitunc. [JLost t/W bkg.
—1Te\/)<S o My, bkg.

—3Te' szmno-"‘ bkg.
OB(X - HH)=

i [GeV]
CMSPreIlmlnary 138 fb (13 TeV)
OF bL ! ‘[ Da:é -qlg hkg
ZFitunc. [JLost t/W bkg.

1Tev )<smm-mW bkg.

—3TeV )<smw-ml bkg.
GB(X — HH)=0.1pb

1000 1500 2000 2500 3000 3500 4000 4500 5000

m,,, [GeV]
CMS Prehmlnaw 138 fb™ (13 TeV)
SF bT ! ‘[ Daté ‘ -q}g bkg,‘ §

Z=Fitunc. [JLost t/W bkg.
—1TeV )<Spmo-mW bkg. |
—3Te\/xwmo-m bkg.
GB(X ~ HH)=0.1p

1000 1500 2000 2500 3000 3500 4000 4500 5000

m,,, [GeV]

CMS Preliminary 138 fb’ (13 TeV)

OF b7 | T Y Daa | Dalg bkg, ]
ZFitunc. [JLost t/W bkg

—1TeV xww-mw bkg.

—3TeV XSD‘M- m, bkg.
OB(X — HH)=0.1pb

1000 1500 2000 2500 3000 3500 4000 4500 5000
m,,, [GeV]



